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Simpdify.

Use the definition of 2 Zero as an exponenl

§

Simplify each expression.

Sa(#) Use the definition of negalive exponent.

Simplify,

Rewrite using a division symbol,

Use the definition of negs isw grponent

Multiply by the reciprocal of -4, which is X%,

%%m%ﬁ&? Property of Multiplicabon
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a3 = %;2

36

- -8

"Method 1: Write with positive exponents firs

_ 432
- (-2)°

— .al
= -4}

Method 2: Substitute first.
ax%y—3 = 4{3)%(-2)73
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Evaluate 4x2y 3forx = 3andy = —-2.

Use the definition of negalive
exponent.

#

Substitute 3 for x and —2 for y.

Simplify,

Subsiitute 3 for x and 2 for v

Use the definition of negalive
sxponent.

Bimnplify,
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_Additional Examples ~ Lesson8-1

In the lab, the population of a certain bacteria
doubles every month. The expression 3000 - 2™ models
a population of 3000 bacteria after m months of growth.
Evaluate the expressionform = 0andm = —-2.
Describe what the value of the expression represents

in each situation.

a. Evaluate the expression form = 0. -
3000 - 2™ = 3000 - 2° Substituie 0 for m.
- =3000 -1 Simplify.
= 3000
When m = 0, the value of the expression is 3000. This

represents the initial population of the bacteria. This
makes sense because when m = 0, no time has passed.

b. Evaluate the expression form = -2,
3000 - 2 = 3000 - 272 Substitute —2 for m.
= 3000 - }  Simpiify.
= 750
When m = —2, the value of the expression is 750. This

represents the 750 bacteria in the population 2 months
before the present population of 3000 bacteria.




